
6063 6063.5 6064 6064.5 6065
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

1−

0.5−

0

0.5

1

de
lta
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Y

delta46_12X4eY:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum
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6367.5

6368

6368.5

6369

6369.5
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6370.5
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ru
n

run:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

0
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1
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2

2.5

3

se
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t

segment:cyclenum {run == 6369}



6063 6063.5 6064 6064.5 6065
cyclenum

123−

122.5−

122−

121.5−

121−us
l_

1X

usl_1X:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

28.6

28.8

29

29.2

29.4

29.6

29.8

30

30.2

30.4

30.6

30.8

us
l_

4a
Y

usl_4aY:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

86.5

87

87.5

88

88.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

3.5−

3−

2.5−

2−

1.5−

us
l_

4e
Y

usl_4eY:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

45.5−

45−

44.5−

44−

43.5−

us
l_

12
X

usl_12X:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

6367

6367.5

6368

6368.5

6369

6369.5

6370

6370.5

6371

ru
n

run:cyclenum {run == 6369}



6063 6063.5 6064 6064.5 6065
cyclenum

181.5−

181−

180.5−

180−

179.5−us
r_

1X

usr_1X:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

43

43.5

44

44.5

45

us
r_

4a
Y

usr_4aY:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

225.2

225.4

225.6

225.8

226

226.2

226.4

226.6

226.8

227

227.2

227.4

us
r_

4e
X

usr_4eX:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

17−

16.5−

16−

15.5−

15−

us
r_

4e
Y

usr_4eY:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

50.4−

50.2−

50−

49.8−

49.6−

49.4−

49.2−

49−

48.8−

48.6−

48.4−

48.2−

us
r_

12
X

usr_12X:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

6367

6367.5

6368

6368.5

6369

6369.5

6370

6370.5

6371

ru
n

run:cyclenum {run == 6369}



6063 6063.5 6064 6064.5 6065
cyclenum

20177.6

20177.8

20178

20178.2

20178.4

20178.6

20178.8

20179

20179.2

20179.4

20179.6

20179.8

us
l_

co
il1

usl_coil1:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

3814

3814.5

3815

3815.5

3816

us
l_

co
il3

usl_coil3:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

3721

3721.5

3722

3722.5

3723

us
l_

co
il4

usl_coil4:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

731.5−

731−

730.5−

730−

729.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

18559.6

18559.8

18560

18560.2

18560.4

18560.6

18560.8

18561

18561.2

18561.4

18561.6

18561.8

us
l_

co
il7

usl_coil7:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

6367

6367.5

6368

6368.5

6369

6369.5

6370

6370.5

6371

ru
n

run:cyclenum {run == 6369}



6063 6063.5 6064 6064.5 6065
cyclenum

19773−

19772.5−

19772−

19771.5−

19771−

us
r_

co
il1

usr_coil1:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

3962.5−

3962−

3961.5−

3961−

3960.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

3874

3874.2

3874.4

3874.6

3874.8

3875

3875.2

3875.4

3875.6

3875.8

3876

3876.2

us
r_

co
il4

usr_coil4:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

464−

463.5−

463−

462.5−

462−

us
r_

co
il6

usr_coil6:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

21984.5

21985

21985.5

21986

21986.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

6367

6367.5

6368

6368.5

6369

6369.5

6370

6370.5

6371
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n

run:cyclenum {run == 6369}



6063 6063.5 6064 6064.5 6065
cyclenum

420−

419.5−
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418.5−

418−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

65.5−

65−

64.5−

64−

63.5−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

17.5

18

18.5

19

19.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

474−

473.5−

473−

472.5−

472−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

87−

86.5−

86−

85.5−

85−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

16.6

16.8

17

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6369}



6063 6063.5 6064 6064.5 6065
cyclenum

132.6

132.8

133

133.2

133.4

133.6

133.8

134

134.2

134.4

134.6

134.8

4a
Y

_c
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l4

4aY_coil4:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

25.5

26

26.5

27

27.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

7.5−

7−

6.5−

6−

5.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

152.6

152.8

153

153.2

153.4

153.6

153.8

154

154.2

154.4

154.6

154.8

4e
Y
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l4

4eY_coil4:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

23−

22.5−

22−

21.5−

21−4e
Y
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4eY_coil6:cyclenum {run == 6369}

6063 6063.5 6064 6064.5 6065
cyclenum

5−

4.5−

4−

3.5−

3−

4e
Y
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4eY_coil7:cyclenum {run == 6369}



6063 6063.5 6064 6064.5 6065
cyclenum

234.5−
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233.5−

233−

232.5−

12
X

_c
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12X_coil1:cyclenum {run == 6369}
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cyclenum

77−

76.5−

76−

75.5−
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X

_c
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12X_coil3:cyclenum {run == 6369}
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cyclenum
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1
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X
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cyclenum

0
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1.2
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2
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X
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12X_coil6:cyclenum {run == 6369}
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cyclenum
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X

_c
oi

l7

12X_coil7:cyclenum {run == 6369}
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cyclenum
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n

run:cyclenum {run == 6369}
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